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e Show all necessary working
e Marks may be withheld awarded for careless or badly arranged work
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e Hand in this question paper on top of your correctly ordered solutions
e Start each question on a new page.
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Question 1 Marks

: : 1 . .
a) (1) For the function y = pUTE write down the value of x at which the
x+

function doesn’t exist. As x approaches + oo, y approaches which number?
(i)  Find the y intercept
(i11)  Hence sketch the curve showing the asymptotes and y intercept

b) Solve for 0 < x<90°:
sin60° = cos (x+10)°

Question 2

a) Shade the region on the number plane satisfying:

x*+y? <4 and y<2x

(1) Find x giving reasons

(i)  Hence deduce whether AB || CD

c) Evaluate sin(-135)° leaving your answer in exact form
Question 3
a) (D) Sketch y = }x - 2‘ and y =3 on the same number plane diagram

(i)  Hence or otherwise solve lx - 2{ =3

b) A In A ABC, DB bisects £ ABC and
R DC bisects £ ACB.
o Copy the diagram onto your answer

sheet showing all the above information
and find the value of x giving reasons.




fuestion 4

a) A regular polygon has each interior angle equal to 150°. Find the sum of all its

interior angles.

b) Simplify (sec G -1)(secF+1)
c)
20
h
» Find the size of & to the nearest degree
C - (i)  Find the length 4 correct to
« em — one decimal place
Question 5
a) If Aisacute and tan 4 = g , draw a right angled triangle and find
1 the exact values of sin4 and cos4

ii Hence show that sin 4= V1 ~cos? 4
(i)

b) Prove the identity -
1+sind

Question 6

=secH(1—-sinH)

Let A and B be the points (0, 1) and (2, 3) respectively

(1) Find the coordinates of the midpoint of 4B

(i)  Find the slope of the line 4B

(ii1)  Find the equation of the perpendicular bisector of AB

(iv)  The point P lies on the line y =2x—9 and is equidistant from 4 and 5.
Using your answer to part (iii) or otherwise, find the coordinates of P.



Question 7

a)
= 300m 5a B
From a position £, Claudia finds that the angle of elevation of the top A, of a billboard 4B is
8°. After walking 300m directly towards the billboard to the point Q she finds that the angle
of elevation of 4 is 21°.
(1) Copy the diagram onto your answer sheet and find £ PAQ. 1
(i1) Calculate the length of AQ (nearest metre) 2
(iii)  Find the height of the billboard (nearest metres) 2
b) Solve tan9=:—1— if 0<9<360° 2
NE)
Question 8
a) Find the shortest distance between the parallel lines 3
3x-4y+7=0 and
3x-4y-3=0
b) Find the exact value of cosec300° 2
c) 3
B
A
NdT TO SCALE

c

The diagram shows two points A and B on opposite sides of a crocodile infested swamp.
From a point C a surveyor notes that the bearings to A and B are 340° and 036° respectively.
The distances AC and BC were then measured and found to be 180 metres and 212 metres

respectively.
1) Copy the diagram showing this information.

(i1) Calculate the distance from A to B across the swamp (nearest metre).
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